INSTRUCTIONS ®
CRVFA-CONVERTIBLE-KIT RAB

RAB Lighting is committed to creating high-quality, affordable, well-designed and energy-efficient LED lighting and controls that make it easy for electricians to install

and end users to save energy. Wed love to hear your comments. Please call the Marketing Department at 888-RAB-1000 or email: marketing@rablighting.com

CRVFA-CONVERTIBLE-KIT

IMPORTANT

READ CAREFULLY BEFORE INSTALLING FIXTURE. RETAIN THESE INSTRUCTIONS FOR FUTURE REFERENCE.

RAB fixtures must be wired in accordance with the National Electrical Code and all applicable local codes. Proper grounding is
required for safety. THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE APPLICABLE INSTALLATION CODE BY A PERSON
FAMILIAR WITH THE CONSTRUCTION AND OPERATION OF THE PRODUCT AND THE HAZARDS INVOLVED.

WARNINGS:

» Read all the product labels and instructions before installing fixture.
» Wear safety gloves and other appropriate safety equipment.

WHAT'S IN THE BOX INSTALLATION INSTRUCTIONS
1. Make sure the POWER IS TURNED OFF at the source to the
I HE J-box in which you are installing the product.
@@@@@@@@@@ 2. Identify installation position, 3" canopy installs with the
Fixture (1) Nuts (10) fixture, 4" canopy installs with the J-box.(Fig.1)

TOOLS NEEDED

Installation with J-BOX/Existing Housing
A screwdriver is needed for installation.

3" canopy

3. Unscrew the screw nut, take off the plate from 4" canopy.
Unscrew two 8-32 X 25mm screws. The lettering side face

DIMENSIONAL DRAWINGS down. Fix the plate with J-box by 8-32 X 25mm screws and

tighten the screws. (Fig.2)

Note: Refer the 3" or 4" J-box slot position on the plate.

— 11916
8-32 X 25mm
‘ D | ‘ lettering
4 3:} ] J \ == 41/8"
J 9/16" L 4. Unscrew the screw nut, take off the plate from 3" canopy.
Unscrew two 8-32 X 20mm screws. The lettering side face up.
—— 139/116" ——————————— Fix the plate with fixture by 8-32 X 20mm screws and tighten

the screws. (Fig.3)

Fig.3

—8-32 X 20mm

Note: These instructions do not cover all details or variations in equipment nor do they provide for every possible situation during installation, operation or maintenance.



INSTRUCTIONS ®
CRVFA-CONVERTIBLE-KIT RAB

RAB Lighting is committed to creating high-quality, affordable, well-designed and energy-efficient LED lighting and controls that make it easy for electricians to install

and end users to save energy. We'd love to hear your comments. Please call the Marketing Department at 888-RAB-1000 or email: marketing@rablighting.com

INSTALLATION INSTRUCTIONS INSTALLATION INSTRUCTIONS

5. Wire the CONVERTIBLE-KIT and fixture according to the 1) CRVFAS Triac&CRVFAS MVS&CRVFAD Triac&CRVFAD MVS:
product type. white-white, black-black, green-green/ground. (Fig.8)

1) CRVFAS Triac&CRVFAS MVS: white-white, black-black. (Fig.4)

2) CRVFAS 0-10V &CRVFAD 0-10V: white-white, black-black,
green-green/ground, DIM+ purple connect input+, DIM- pink
connect input-. (Fig.9)

2) CRVFAS 0-10V: white-white, black-black, purple-purple,
pink-pink. (Fig.5)

Fig.5

Once wire connections are made, secure each with a wire nut.

3) CRVFAD Triac&CRVFAD MVS: white-white, black-black, Sort out and put the wires into 4" canopy. Align the screws
green-green/ground. (Fig.6) with the mounting hole of the plate and tighten the screw nut.

COMPATIBLE PRODUCTS

CRVFAS-11R-16-9CCT-120-W
CRVFAS-14R-20-9CCT-120-W

CRVFAS Triac CRVFAS-19R-32-9CCT-120-W
CRVFAS-11R-16-9CCT-UNVT-W
4) CRVFAD 0-10V: white-white, black-black, green-green/ground, CRVFAS-14R-20-9CCT-UNVT-W
purple-purple, pink-pink. (Fig.7) CRVFAS-11R-16-9CCT-UNV-W-MVS
CRVFAS MVS CRVFAS-14R-20-9CCT-UNV-W-MVS

CRVFAS-19R-32-9CCT-UNV-W-MVS

CRVFAS-11R-16-9CCT-UNV-W
CRVFAS 0-10V CRVFAS-14R-20-9CCT-UNV-W
CRVFAS-19R-32-9CCT-UNV-W
CRVFAD-12R-16-9CCT-120-BN
CRVFAD Triac CRVFAD-14R-20-9CCT-120-BN
CRVFAD-18R-32-9CCT-120-BN
CRVFAD-12R-16-9CCT-UNV-BN-MVS
CRVFAD MVS CRVFAD-14R-20-9CCT-UNV-BN-MVS
CRVFAD-18R-32-9CCT-UNV-BN-MVS
CRVFAD-12R-16-9CCT-UNV-W
6. Wire the CONVERTIBLE-KIT and J-BOX based on product type. CRVFAD 0-10V CRVFAD-14R-20-9CCT-UNV-W

CRVFAD-18R-32-9CCT-UNV-W

Once wire connections are made, secure each with a wire nut.
Sort out and put the wires into 3" canopy. Align the screws with
the mounting hole of the plate and tighten the screw nut.

RAB® Easy Answers

© 2022 RAB LIGHTING Inc. rablighting.com Tech Help Line e-mail Free Lighting Layouts
Cranbury, New Jersey 08512 USA Visit our website for product info Call our experts: 888 722-1000 Answered promptly - sales@rablighting.com Answered online or by request
CRVFAKIT-IN-0322

RAB WARRANTY: RAB's warranty is subject to all terms and conditions found at rablighting.com/warranty.



